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No. of Questions : 50
usql @t g : 50

Time : 2 Hours Full Marks : 200
THT : 2 U@ g% : 200

Note: (1)

(2)

(3)

This Question Booklet contains 40 Multiple Choice Questions
followed by 10 Short Answer Questions.

sﬂnﬁgﬁaa;rﬁmaregﬁmaloagaﬁﬁauw%r

Attempt as many MCQs as you can. Each MCQ carries 3 (Three)

marks. 1 (One) mark will be deducted for each incorrect answer.
Zero mark will be awarded for each unattempted question. If
more than one alternative answers of MCQs seem to be

approximate to the correct answer, choose the closest one.
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O1.

02.

03.

The problem related to price fluctuations and handled under :

(1) Management Accounting (2) Cost Accounting

(3) Inflation Accounting (4) Financial Accounting

Ul & SAR-9ld § grafad querell & Fearer ... B s=d
frar smar & |

(1) T&=1 qEieh (2) FTT A@ieh
(3) THITF G 4) T JaiwT

‘Window Dressing of Accounts' means :

(1) Presenting accounts in a beautiful manner.

(2) Showing more losses to avoid income tax.
(3) Showing more profit to attract investment.

(4) All the above.

Tl & Cfast 3R (Window Dressing)’’ @l 1A ?:

(1) @rat # ST 7 3 T BT |

(2) A e adi @ e sifal o SAfees @

(3) SR @ ST Fa @ fw e B et
() SgE |

Proposed dividend is shown under the head -------- in the Balance
sheet of a company.

(1) Reserves and surplus
(3) Other liabilities (4)
et B anfefs fagd H e g & ST

(2) Provisions

Other assets

geqfae wsien e

feae ST € 1

(1) §e@ o S 7 wm;qﬁﬁ
) B E] (4) T4
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4. 'Caveat Emptor' means :
(1) Let the seller Beware (2) Let the buyer Beware
(3) Let the agents Beware (4) Let the Government Beware

Biae ¥ (Caveat Emptor) @1 3191 & :
(1) Tosbar @@y @ (2) hal FEEE &I
(3) TSivE HEY™ @ (4) HIHR GEEH

05. Mixed economy means :
(1) Co-existence of industry and agriculture
(2) Co-existence of cottage industry and large industry.
(3) Co-existence of public and private sectors.

(4) Co-existence of industry and service sectors.

Fii¥E srfearenr @1 anerg D -

(1) SEFT o Hy &1 Fe-arfeae

@) BT AT 9T gex SERT B de-SRae
(8) @mEsitE T ol @ @ He-sifdm
(4) 3ETT Ud Ha1 85 Fr gE-ofda |

06. AS-3is related to :

(1) Depreciation (2) Cash Flow
(3) Fixed Assets (4) Closing Stock
AS-3 grfed -
(1) B9 - (2) "% Yare
(3) & Tl (4) T efor
07. Stagflation means -
I) Inflation with stagnati ' :
(1) o wi g ton(2) Deflation wit, stagnation
(3) Inflation with €xpansion (4)

Deflation with €Xpansion

P.T.0.
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09.

HaT ity SAa 58 (Stagflation) HT HAIRTA g
(1) ENEr & | ga1 whifa

(2) TEEAr & @y T faif

(3) frem & ar gar whif

(4) Tawr & |rr gar faedfa

. Which of the following is the remedy for over capitalisation ?

(1) Ploughing back of profits (2) Issue of Bonus Shares

(3) Sub-division of Shares (4) Increasing the par value of Shares
Frafafea & Ain-a1 UG & e 9aE 8 7

(1) @t @ geAwErT (2) T ofl @ A

(3) A Bl ITHTT (4) sl & oife g H gl

‘Management By Objectives’ cannot be done without :
1) Decentralization of authority

(

(2) Delegation of authority

(3) Defining clearly the tasks to be performed
\

(4) Division of work
Feood] =l 9EREH (Management By Objectives) ..-... & fom e

fepar ST 9ol |
(1) AfesRrd & fereR=st e T
() SfeEpRl & ST

(3) fasaisa &0 ST i At T ETedEr I HE

(4) HE CRIEaN]
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10.

11.

12,

Decision making theory of organisation has been propounded by ---
(1) Henry Fayol (2) F.W.Taylor

(3) Herbert A Simon (4) R. Likert

1A H1 Mot Ry (Decision making theory of organisation)
...... ERT gfcraried B a4y

(1) BT Bam (2) THoT=Fo I

(3) &< U §iEng (4) 3o frepe

To which of the following the term ‘capitalisation’ is used for ?

(1) Sole proprietorship (2) Partnership

(3) Joint stock compgnies (4) All types of business enter prises
Frfeiea & | ‘ol ST foed T F g o o S
(1) Thd Fgarg

(2) HrEETd

(3) | TS At wrfyy

(4) & 9BR B awiiae denst @

Watered capital means :

(1) Over capitalisation

(2) Under-capitalisation

(3) Excessive capital

(4) Part of the capital not represented by assets.

= S & a3

(1) A Fohamor

(2)  STT-Yofrrer

(3) oHfaferT Goiy

(4) %ﬁmmwﬁﬂ%ﬁ%mm@h;@mwa'

P.T.0.
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13.

14,

15.

The Strategy of introducing a product with high introductory price is
called :

\}) Penetration strategy (2) Skimming strategy
(3) Pull strategy (4) Push strategy

T%H I Bl I YAN-Ged B W ISR F IARA Bl IO Bl
Fed & ¢

(1) S iy ) W FArd areh wEhR
Rl i i e @) A 8

A product line strategy where in a company adds a higher priced
product to a line in order to attract a broader market which helps the

sale of its _sisting lower priced product is called :
1) Trading up

} Trading Down

(3) Live cycle extension of product

(4) Product line retension

T A O o adA SeE-gEar § Ie g9 % 8 S
Wﬂﬁm%aﬁw%@ﬁwaﬁaﬁﬁﬁmwﬁ
Jordify @ Fed B

(1) 3= AR (2) STERTET STIR

(3) S @ Staa-e A (4) eI CEERIE N

Degressive Tax 1s mixture of :
(1) Progressive and Regressive Tax
(2) Progressive and Proportional Tax

(3) Proportional and Progressive Tax

(4) Regressive and Propositional Tax
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16.

17.

18.

AT FHT Fr=faRag @ fysor ©
(1) seifersiier & ofermedt < (2) wfashier @ e =%
(3) STguits g wifaefier & (4) SfFTHT g ST

Capital Levy is imposed on............

(1) Services (2) Commodities
(3) Expenditure (4) Properties
‘j?ﬁ B cwvnminas U ST ST 8

(1) Sarst (2) aEgadt

3) = (4) @i

As per Two Factor Theory of Motivation, which of the following is not
a motivational factor ?

(1) Recognition (2) Status
(3) Achievement (4) Responsibility

Trace out the odd from the following with reference to morale
(1) Observation

(2) Company Record

(3) Labour Participation in Management
(4) Interview

qﬁﬁ%ﬁ#ﬁﬁmﬁf@aﬁﬁ%mﬁma&ﬁﬂq
(1) Frdeqor (2) B Repre
(3) e X r-Hewwhig ] eiTeepry

P‘ T. 0
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19.

20.

21.

870/Commerce

Fixed cost per unit decreases when :
(1) Production volume decreases
(2) Production volume increases
(3) Variable cost per unit decreases
(4) Variable cost per unit increases
Rerr @ afty g # =+ el ® o ¢
(1) SR 9En F FH Ech B
(2) T 7T H gle 26 2
(3) wid zwis uRad=sie @ma d & e @)
(4) ufa 3E aRad=sia @ & ghe exdt 21
The P/V Ratio in the following case will be :
Year Sales Profit

(Rs.) (Rs.)
2013 25,000 5,000
2014 37,500 10,000
(1) 20% (2) 30% (3) 40% (4) 50%
fFrafafad gem & @e-wEn SO B
ad faspa |

) ®)
2013 25,000 9,000
2014 37,500 10,000
(1) 20% (2) 30% (3) 40% (4) S0%
Which of the following is not a capital Budgeting proce.ss ?
(1) Project Generations (2) Project Evaluat:lfm
(3) Project Solution (4) Project Integration
Wﬁﬁﬁ—mﬁﬁwwﬁmﬁfﬁqﬁ%?
(1) gf=ASE gord (2) GRASHT e dichH
= 99 (4)  qfi=oHEl AEe

(3) g

10
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22.

23.

24,

In case of liquidation of a company the 'Residual claimant' is :

(1) Equity share holder (2) Preference share holder
(3) Debenture holder (4) Public Depositors
FA & TG H A9 F ‘argidve TR

(1) &Har Sigrerd 2 (2) yaiferepR Sfrerd &

(3) =RUME urd ¥ (4) WSS SHEEal 2

Which of the following is not a tool of sales promotion ?
(1) Sales contests (2) Free gifts
(3) Point of Purchase Display  (4) Public Relations

ﬁwﬁrf@aﬁﬁaﬁv—mﬁmﬁadqﬁaqﬁ%?
(1) TP wqet (2 999 IR
@) 7 W&\ W axg wasw (4) o g

Trade mark is -

(1) a name, term, Symbol or design which is intended to identify
the goods and services of a seller.

(2) a brand that has been given legal protection.

(3] giving protection to the product and adding to it's aesthetics ang
sales appeal.

(4) vaiding written information about the product.

R e & -

) U MW, AZ, BT rerr wgiet Rrad Risar
TG M JAA A qEa Ay B P !
(2) % dve R Rfe wvemor o,
(3) T IR &I HERT gaT K5y ;
7 gfis e o o SHE S 7% R g

(4) ST & W3t & R geem 997 gy

11
P.T.0.
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25. Adralorem tax is imposed on the commodities on which basis ?

26.

27,

28.

(1) Size (2) Weight

(3) Volume (4) Value of the commodities
TITGAR #Y g e ¥ awgell 9% @mer Sar § 7

(1) ST (2) HX

(3) TG (4) a&S B THA

Which one is not Adam Smith's canon of taxation ?

(1} Canon of Equality (2) Canon of Certainty

(3) Canon of Productivity (4) Canon of Economy

sEH F-a1 UgH ey & HaA9eT Em qE B 7

(1) |9 ol HE| (2) Ffyeaar & HEd

(3) TarEhdr H (4) et @ e
"Mobiles are not allowed in the examination hall" is an example of :
(1) Rule (2) Procedure

(3) Policy (4) Method

e wo B ARG A oAl W ¥ 9% o ST € -
() Fram (2) Wik

(3) (4) fae

Which of the following is not the feature of a commercial

organisation ?
(1) Production of Goods (2) Purchase of Goods

(3) Wwarehousing of Goods (4) Providing After-sales service

ﬁr{ﬁ{ﬁaﬁﬁﬁaﬁﬂ—w@ﬁmﬁmﬁwaﬁﬁmﬂﬁ%?

(1) aeget T SCATEA (2) TEGSA BT B

(3) a@eﬁiﬁfﬁﬁ'{“’ (4) Repa-Iuid FdT F&T BT

12
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29.

30.

31.

32.

A and B are partners sharing profits in the ratio of 7:3 C is admitted
with 3/7th share is the profits. What will be the new profit sharing
ratio ?

O AT TH FH A 7:3 B oUW e ¥ 1@ AT ¥ 3/7
m%%ﬁmﬁww%lwaﬁwwww
BRI ?

(1) 14:6:15 (2) 12:6:14

(3) 7:3:3 (4) 14:7:4

Matching concept relates to the preparation of -

(1) Profit & Loss Account (2) Balance Sheet

(3) Fund Flow Statement (4) Cash Flow Statement
I B HTIRON FH T a9 Q@ 2

(1) -8 @ (2) fFreer

(3) ¥ yare faazor (4) IFT HaTE RERer

Which of the following is not an Individual Investor of Industrial
Securities ?

(1) Creditors (2) Customers

(3) Speculators (4) Issue Houses

gr?rfi‘-@a F R/ B el aRrafE 5 sfr fafriterar
(1) =R (2) uEH

(3) 9ReIH (4) M

Capital Gearing means -

(1) Proper capitalisatign

(2) Watered capital

(3) Fixation of g PTODET ratio between twe .

more 3
(4) Trading on equity Ypes Ofsecunues_

13
P.T.Q.
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33.

34.

35.

it P & vt B

1) ST gotteszor

@) =R o

(3) = ar & /A 3ferep g At gt & WA S ST H
GBI

(4) |HAT YOI OT SR

DAGMAR approach in marketing is used to measure .
(1) Public Relations (2) Advertising Results
(3) Selling volume (4) Consumer satisfaction

FUURT % $1.0.0.UH LY. SUTTH bt ST AT & R ST €
(1) &rep =% (2) Forsmo= @ qienmH
(3) . fmpa areT (4) U Egfte

Which one of the following is not the mode of Direct Distribution
System ?

(1) Trading mediators (2) Vending Machine

(3) Own sales depot (4) Franchise shops

(1) FRETY A (2) faw R

) Seqraep & IR [T SUST (4) fQroiferR. gep

ax is imposed on commodity, whose supply is perfectly elastic,

When T

the burden of tax falls upon :

(1) Seller (2) Buyer
(3) OQwner (4) Producer

14
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36.

37.

38.

T QT TR U HT AT S B, ot off qoler dear &, 4
B FH AR G277

(1) fpar a3 (2) har 9¥

(3) wW@rlt 4z (4) IAESH W

Which committee is constituted by parliament to control over
government finance ?

(1) Allocation Grants, Committee
(2) Public Accounts Committee

(3) Revenue Collection Committee
(4) Programme Budget Committee

Hﬁmﬁﬁﬁwﬁﬁawwﬁﬁmﬁ%ﬁﬂum%ﬁmﬂﬁﬁﬂ
Toq R & 2

(1) STg=HT # orees gfafy (2) P @@ gy

(3) W TRt afufy (4) HREET S Gy

As per Managerial Grid Theory, which leadership style is the best :
(1) 1,1 Style (2) 1,9 Style

(3) 9,9 Style (4) 9,1 Style

T BrS RERem & s, #qaﬁaﬁ?~ﬁ§ﬁiﬁﬁﬁq%-
(1) 1,139k (2) 1,9 s

3) 9,9 Ak (4) 9,1 3N

As per Acceptance Theory, the originating point of autho

(1) Lowest Position (2) Middle Position
(3) Modern Position

rity is
(4)  Supreme Position

Eﬂzﬁ%lawm%aw,e@www%%_
(1) Fr=ras gadt (2) Aem gedd

Q) sYE gadt (4) Tl g

P.T.0.
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39. Which one of the following is correct ?

40.

(1)
(2)
(3)
(4)

(1

Gross Profit + Sales+ Direct Expenses + Purchases + Closing
Stock = Opening stock
Gross Profit + Direct Expenses + Purchases + Closing Stock-
Opening stock = Sales

Gross Profit + Direct Expenses + Purchases + Opening stock -
Closing stock = Sales

Gross Profit + Direct Expenses + Purchases - Opening stock +
Sales = Closing stock

Fre=fafaa § fF-ar s 98 § 7

b 1 + [ + ge F9 + %A + fad @il

= YRf*srep @iaar
ag{amﬁ+mam+m+m@ﬁm-mﬁ%@%m
= [Tehy
Ww+wm+m+mﬁ%ﬁﬁm-aﬁm@%m
= fa=pg

A < -+ SR 9 + Y - g ek + [ed = et
Tafaar

Selling price per unit ~ Rs. 9

Total fixed cost Rs. 63,000
Variable cost per unit Rs. 6

What is the amount of break-even sales ?

(1) Rs1,89,000 (2) Rs 84,000
(3) Rs 63,000 (4) Rs 54,000
ferm=r ufey =Hs 9 wo

T f@gf ATl 63,000 ®o

et T T g 6 O

()
(3}

=
1 89,000 ®© (2) 84,000 o

63,000 TO Ay SHNUTRe

16
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Short Answer Questions

Tg TN T9T

Note : Attempt any five questions. Write answer in 150-200 words. Each

01.

02.

03.

04.

0s.

question carries 16 marks, Answer each question on separate page
after writing Question Number.

%ﬁqﬁ%wﬂﬁmlqﬁzﬁaﬁrw 150-200 g1 &
4T | o mew 1631'?%%%:1@?5:{&?{%{3?—1?61@355%
I WA e 6 #5¥ )

"If you are in need of money, look to your Inventroy at first". What is
the significance of this Statement for a finance manager ?

Explain the components of Holistic marketing concept.

q AU SR § sgedt @) SEEIESE

Discuss the sources of Public Debt.

ﬂﬁwﬁmm%wﬁ’ra&ﬁawq%ﬁma

Describe briefly the causes of distortion in perception

aawqﬁam%aﬁﬂvﬁmﬁ%qﬁaﬁaﬁﬁrrq;

Distinguish between Cost Control and Cost Reduction

amﬁuaquiamaﬁ‘amﬁaaqqﬁm,

17
P.T o,
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6.

D7.

9,

H9.

0.

Differentiatc between Financial Structure and Capital Structure.

i =5 AR IOl @A § oy W FHi |

Explain the steps involved in the process of marketing research .
AU stpdue o e A afaRa et B AR |
Explain the functions of Compirolier and Auditor General of India.
A & deisrer 9hers B Fal F AT Hifo |

Exnlain the Psychoanalytical Theory of Personality.

Py A AR B @ et Hi |

kxplain the capitalisation method of valuation of goodwill.

e o) SR R A T

18 400
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Question No. Page for Short Answer
AT e WY IaE & R g
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Question No, Page for Short Auswer

U HeE Y Swig & fim g
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Question No. i Page for Short Answer
e g g Smid 3 Rw g
21

PTo.



RET/15/TEST-B 870/Commerce

Question No. Page for Short Answer

ug HEm g Icd & e TS
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Question No. Page for Short Answer

g9 HeE=A 7Y SoE & fog gs

23
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